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@72—(35+26) @ 75+ 46 - 69
® 51-49 + 36 @ 51— (16 + 16)

® 40 + (100 — 68)

B

D@ 72-(35+26)=72-61=11

@ 75446 — 69 = 121 — 69 = 52

®51-49+36=2+36=238

@ 51 - (16+16)=51-32=19

® 40 + (100 - 68) = 40 4 32 = 72




50-8%x24+10=+2

@50—8x(2+10)+2 @ (50-8)x2+10+2
® 50— (8x2)+10=+2 @ 50-8x2+(10+2)

® 50— (8x2+10) =2

~&B

@D (50 -8 x 2+ 10) + 2 = (50 — 16 + 10) + 2
=22

@ (50-8)x2+10+2=42x2+5 =89

®50-(8x2)+10+2=234+5=39

@50-8x2+(10+2)=34+5=39

® 50— (8x2+10)+2=>50-26=+2 =37
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36-9x3+48+8

® 36-9 @93 ® 3+48
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